0.50-

0.25-

1
o
<
o

(47m8s) [enpisay

0.50-

0.25-

1
o
-
o

(Qid) renpisay

-0.25-

-0.50-

Fitted value

Fitted value

1
o
.

o

(¥1dwiniy) renpisay

-0.50 -

Fitted value

Fitted value



Sample quantile Sample quantile

Sample quantile

Residuals of the model for PreVote.num

0
Theoretical quantile

Residuals of the model for PID

0
Theoretical quantile

Residuals of the model for selfLR

0
Theoretical quantile

N =

N =

5 )



Residual (PID) Residual (PreVote.num)

Residual (selfLR)

0.75

Fitted value




Residual (PID) Residual (PreVote.num)

Residual (selfLR)

0

50 100 150 200 250

50 100 150 200 250
income.num

o N
1 1
L)

|
N
1

7.5

100 125 150 175

100 125 150 175

[ ]

l |

[ ] | | l

100 125 150 175
edu.year



Sample quantile Sample quantile

Sample quantile

Residuals of the model for PreVote.num
s

o »°

-5 0 5
Theoretical quantile

Residuals of the model for selfLR
/.

-

-5 0 5
Theoretical quantile

Residuals of the model for TrumpLR

°
”

(

-5 0 5
Theoretical quantile

-

.

Sample quantile

Sample quantile

Residuals of the model for PID

>
o ”*
-5 0 5
Theoretical quantile
Residuals of the model for ClinLR
7 [ ]

-5 0 5
Theoretical quantile



